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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 s fowes @1 = FX S fow M fw & w9 H Fww = oah g Question D : 9864494760

Status : Answered
Chosen Option : 4

Select the option that represents the number of squares in the given figure.

Ans X 1.1
X24
<33
a2

Q.2

Question ID : 9864494737
Status : Answered
Chosen Option : 2
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Below 20 years - 20 af & & g @t Between 20-40 years - 20-40 I
& drer i W1 aror Above 40 years - 40 T ¥ e g amer

T 77 73 SAER 3R IER, SR % T #iF F 9= = T der S
FIIS F A F

f faer o a1w a¥ &, 5,00,000 @ & =i @ S fRar @ ar e Froarr
F A 20 T 40 TG F A= B A T F IANFRA F 20 A F FA 47
T A FREA & J, dge e

The given figures depict the country-wise and age-wise distribution of the people who visit
China for business setup.

If in a given year, 500,000 people visited China, then the ratio of the number of Americans

with the age group between 20 and 40 years to the Russians with the age group below 20
years who visited China is:

Ans X 1.2 1 1
v 4:1
<31:4
Ka1:2

Q.3 & e o B9 # wg== U sawamanh sg==a § i wg==a L, M sk N
FHer: STagd, sl AR ST Gget aTer ot @ g ¥ v g st &

Question ID : 9864495022

FUR 9T 3 oI S FoT weEw Bt § S e s s 9 @ € ofew Status : Answered
sfoga #dt 9e =7 Chosen Option : 3
v 13

AA ,,
12

In the following diagram, Set U is the universal set, and Set L, M and N represent students
studying History, Geography and Language, respectively.

Based on the given data, what is the total number of students studying Language and
Geography but not History?

U 13

A
ans X 1.19
X211
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V9
K42

Q.4 3.5% \TEROT I¥F = F T W 6 Iur F forr FERE 2,000 Fr ofer 9w )
Question ID : 9864492727
fordaTT =TT WIeg gem?
A sum of ¥ 2,000, invested at the rate of 8.5% simple interest per annum for 6 years will SIS AL
yield an interest of: Chosen Option :2
Ans X" 1. T 1,275
v 231,020
X 33510
< 4. T 035
Q.5 ;
o=r iaQ a7 Hﬁﬁ & shH @- o9 dr A& skl JdA a"ﬁﬂ Question ID : 9864494146
Status : Answered
K, M P, T, Chosen Option : 3

Select the letter missing from the given letter series.

K.M.P,T,
Ans x1_ X
X228
vy
X4z

Q.6 Trafaf@a & ¥ #Hia @A Hu Tad gd? )
Question ID : 9864494950
A UEAT WG H AT T WG H A & W g Status : Answered
B. T G W 1 et 1 gl 9 T@ g% & wwga, e gewwe 2 fretana Chosen Option : 1
T2 fratraa &, % @9 @9 @i AT IECART /9 26.68 x 1071 N g
C. 7IEA & TN 1 e saeRmer # & 7

D. &4, & aFgt & 97 & gl F T F gopAger g 8
Which of the following statements is/fare INCORRECT?

A. The value of G on the moon is equal to that on the earth.

B. 26.68 x 107! N is the force of gravitation between two point masses of 2 kg and 2
kg kept 1 m apart.

C. Newton’s law of gravitation is valid in the laboratory only.

D. Force is inversely proportional to the square of the distance between two bodies.

Ans m
) ¢
Only C
Zaaﬂcﬁhn
C and D only
3&CﬁhD
B, CandD
XIQHHA
Only A

x

x

Q.7 Frefr 3t oG H AR & wse iR & senar Reeor 9feant %
&7 & g @ FA wer S 87

In a longitudinal wave, the distance between two consecutive compressions and two .
consecutive rarefactions is called: Chosen Option : 1

Ans H@.I%d.'
)
Wavelength

Question ID : 9864494614
Status : Answered
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X2 FaAT
Energy

X3 Tere
Matter
RATOT

X4
Magnitude

Q.8 37 faeheT F IO FT =, FAfT v fegat Fr @ W oRef FErmRa

) & Y Question ID : 9864495097

Status : Answered

g9 = Chosen Option :1

o .
;

Select the option that depicts the following transparent sheet (Problem Figure) when
folded at the dotted line shown.

Problem Figure
. o

Ans o 1 A
X2C
< 3B
X 4D

Q.9 = 12 Rt F v 9w g W §1 HET =T F 70% 3OF TS ¥
T SfEer W T F wfET # e R w7

Ajay can do a painting in 12 days. Amit is 70% more efficient than Ajay. What is the
number of days Amit would need to finish the same painting? Chosen Option : 1

Ans ; 1
&) 7;

X2 3%

4

X 3. SE

1

x4 5;

Question ID : 9864494820
Status : Answered

Q.10 ugr # 2:30 a8 X U T Fe3t @ o AF FHior T

‘What is the obtuse angle formed by the hands of a clock when the time in the clock is
2:30?

Ans X 1. 95° Chosen Option : 3
X 2.165°
¥ 3.105°
# 4.120°

Question ID : 9864494864
Status : Answered

Q.11
Question ID : 9864494736

Status : Answered
Chosen Option : 3
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R o1v Fue # 9F AR T W R T # & A F R W, s .
T FEE H ¥ FHe FFEIT T § 99T & @ 2

He:

TRl 3eErst & e, 5 faeme & wt wfaerdh g & e, fadr of
TRt F AT faemT v @y & A s g

FHET:

1. Spfas AErst % U 96N o & AT e e & e g
=nfge
2. @it Rt 7 TeE w1 B & o oeder setar Aer = A
af3a s =ifgu
Read the given statement and decide which of the suggested courses of action logically
follow(s) on the basis of the information given in the statement.

Statement:

During natural calamities, many departments blame each other for any wrong-doing due to
overlapping functions of these departments.

Course of Action:

1. Only one department should be there to take charge during natural calamities.
2. All departments should be held responsible for wrong-doings and punished.

Ans X1-1 3T 2 2 #=7 gres g@ar B
Both 1 and 2 follow.
2;rr-fr1a:r;rza:rqm?rr3’|m%|

Neither 1 nor 2 follows.

3_a=—c|?»r1 T 9Tel=T BT 21

v

x

Only 1 follows.
s FaoT 2 T 9ol g 2|
Only 2 follows.
Q.12 ; e o’ L2
HTTer H e e T S 0" | HETHAFT OAPB T &1Thel Ircl o GBI H1 — AT | Question ID : 9664492451
X A Hif=T
Status : Not Answered
Chosen Option : --
A B
p

In figure ‘o’ is the centre of a circle. The area of sector OAPB is % of the area of the
circle find x.

p
Ans
x 1 115 f2=fr
115 degrees

x 125 i
125 degrees
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V5 100 2=t

100 degrees

X 4 120 f2=fr

120 degrees

www.facebook.com/superpathshaIaA

Q.13 ofg 3 gt 3A%E & AFTT 90 &, AT 240 F foawr awee wlie o1 ¥t &7
If 3 dozen guavas cost T 90, how many guavas can be bought for T 2407

Ans

#<1.90
~< 298
V'3 96
#4102

Question ID : 9864494835
Status : Answered
Chosen Option : 3

Q.14 w7 =8 Rafcrw Ty # @ w e & B sfee §2

Sir Charles Wilkins is known and remembered for which of the following translations?

Ans

v T T & ST H
‘Bhagavad Gita’ to English

x

2_'3ﬂﬁﬁﬁlﬁ?a:r1%'€rﬁ

“The Old Testament’ to Hindi

K3

'Qﬂéﬁﬂﬂ"ﬂiﬁ)ﬁﬁ

‘Shakuntalam’ to English
X 4 arefaer T Bér H

“The Bible” to Hindi

Question ID : 9864494501
Status : Answered
Chosen Option : 1

Q.15 & & & wicA & gehl & H9E F T st Br 59 fAeedt 7 @ g fwew &1 94w
il

Ans

A YeemnA, edes |1 STovaw wicees &
=
_Caapz I mﬁaﬁﬁ
IfEra dca
. 0.1 FHer 1L 5§ §&T $r
rarngT e
T S #
. TR GEAY] AT AV & |IV. 2.3 A S 7
T A A #Hiee g &
SETA W ORATLET
ar wpt f AfEEa
FET 6.022
%102% gt 31

Select the option that correctly matches the contents of the first column with the contents
of the second column.

Question ID : 9864494917
Status : Answered
Chosen Option :1

A. Calcium, Oxygen

I. Formula of Calcium Phosphide

B. Ca,P, II. Elements present in
Quicklime
C. 0.1 Moles M. This number is known as the

Avogadro constant

D. The fixed number of
atoms or molecules

IV. Are pregent in 2.3 g of Na

present in gram atomic
mass of an atom or
molecules is 6.022 x 1023

W 1. AL B-I, C-IV, D-III
X 2. AT B-II, C-IV, D-III
/< 3. AIL B-IV, C-I, D-III
X 4. AJIL B-L, C-IIL DIV
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Q16 45 — [38 — {80~ 4 — (8 — 12 = 3) = 4}] =2
45 —-[38—{80+-4—(8—12+3) - 4}] =7
Ans «1-26
K227
<325
X 428

Question ID
Status

Chosen Option :

19864494549
: Answered
1

Q17 yfeg s AR Aged & Taar UheeT oel @i & Jor & FafoT 82

To which country does the celebrated author and leadership speaker Robin Sharma
belong?

Ans AT

v 2
Canada

Question ID : 9864492182
Status : Answered
Chosen Option : 4

QB aRX AT Y FRAT A FAT I T Y FR A RTXF
g -

If X’s mother is the only daughter of Y’s father, then Y’s husband’s father is X's

Ans ﬁl—_“-
Ko
Father
, g7 gl 97 AT
' Great-grandfather

xsw;‘mmgtﬁrfﬁmm

Uncle
, HAFHIEGIGL

Grandfather

v

Question ID : 9864494371
Status : Answered
Chosen Option : 3

O R § § FF O = 5
Which of the following statements is true?
Ans x 1.

Fwat 7 46 TorgT B § S @ 42 (21 Sh3) afer aorgE @ &

In human beings, there are 46 chromosomes, of which 42 (21 pairs) are autosomes.
X2

fadlr 7T 7 = X TogE AR @ Y o @ #l

A male individual contains one X and two Y chromosomes.

X 3.
fezst T $o ww S & AU # faF 9w G qun dew FAEA @ dl
In grasshoppers and some insects, the male has only four sex chromosomes.

W 4
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Question ID : 9864494928
Status : Answered
Chosen Option : 4
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ZRefta S, T T 3mem st 3 €, 7 gRefOT St & somgEt
&1 v e Ser g & S Rl @ frfier weer § At o g T o
e gl

In diploid organisms having separate sexes, a specific pair of chromosomes in each
diploid cell determines the sex of the individual; they are called sex chromosomes.

Q.20 f&U =1 gerdedl ®F BT A T @of AN Tg 97 &L fF e @ (@) Feew

. . . ion ID : 44947
& @7 o B - Y Question 9864494789

Status : Answered
Terdeq: Chosen Option :1
Fo deme e § | 3o Site Aeal § | $o At W
s

1. Fo wgg o §

2. 7 WS Ho A 2 |

Take the given statements to be true and decide which of the conclusions logically follows
from the given statements.

Statement: Some ponds are lakes. Some lakes are rivers. Some rivers are seas
Conclusions:

1. Some seas are lakes

2. No sea is a lake

T 1A 2 HFEOT HIA E
Either 1 or 2 follows

1 3R 2 2t et e §
Both 1 and 2 follows

| e TRy 1 SFET e E |

Only conclusion 1 follows

| e T 2 3geor e & |

Only conclusion 2 follows

Ans

v

x

x

x

Q.21
ﬂ Question ID : 9864494802

1t 11 [prrrrrjeeeeet

Treee [TOO008 [CET000 (111100

FR fow aw Fost @ Ol v FH F AFER ST T § | SH FH e
FLT T T R ST Ay ?

Status : Answered

Chosen Option : 2

11 m
11|11 [T111t)1
(RTATTTIT i
A B C D
1t
1t [inr [reaneefrree
TH e [TTOT0e [T [FrT

=]

The above figures are arranged in some order. The
is

ext figure that follows the same order

i1 1 Hrtiee
IR AEREAFRRRRT]
ERARNAARANN
A B C D
Ans x 1. B
v A
X< 3D
X4C
o ﬁ ﬁ ﬁ?l' ar Eﬂg 2 ﬁ q-lé- el %‘? Question ID : 9864493591
Which of the following metals is found in free state? Status : Answered
Ans Chosen Option : 4
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CICAEIR Py
Potassium
X2 Fier
Calcium
afzgs
Sodium
|I=T
Gold

0

< 3

v 2

Q.23 15, 30 3R 45 9 F IwaUe W FEA: O "fed gt & | I T geg .
e Question ID : 9864494812

8.00 7= TF 1Y T § o 3T AW F v WA FH g Status : Answered
Three bells ring at intervals of 15, 30 and 45 minutes respectively. At what time will they Chosen Option : 2

ring together again, if they rang simultaneously at 8.00 AM?

Ans
v geg 9.30 &=

9.30 AM
geg 9.00 g

9.00 AM
, 99 8.45 =t

8.45 AM
, g 8.30 s=

3.30 AM

X2

x

x

QU RUIT A R iT AT T F FAT T TFaT A T I/ A F

. Question ID : 9864495031
e e &3

Status : Answered
Chosen Option : 4

g X v Wl dwm g, & R X+6 favw 2

EUE GRS

1. X—15 T Ut wEw B
2. X—6 Ut Fwd wE B
Read the following question and decide which of the given statements is/are sufficient.

If X is a natural number, is X+6 odd?

Statements:

1. X—15 is a whole number.
2. X—6 is an odd number.

Ans x1_
T &7 3ca¥ &7 & forT I ar 1 Im 2 ST 2|

Either 1 or 2 is sufficient to answer the question.

<2
9o FT 3T 3 F AT 1 3% AT § S4iF 2 Hhom AT J&v gl

1 alone is sufficient while 2 alone is not sufficient to answer the question.
< 3.
9o T Il &7 & T 1 3k 2 @&t s §

Both 1 and 2 together are sufficient to answer the question.

o 4
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99T F 3ol & & T 2 avhon 9AYg § SE{F 1 3eem 9 Fg gl

2 alone is sufficient while 1 alone is not sufficient to answer the question.

Q.25 v gEeER Fo AT T19.20 9f &1 & a0 ¥ Wieadr § 3T 25% amr
A & ¢, o v 3P F faww Hqew fhae g

A shopkeeper purchased some eggs at ¥ 19.20 per dozen and sold them at a profit of 25%. .
‘What is the selling price per egg? Chosen Option :1

Ans  f1.32.00
/< 23%1.80
<332.20
< 431.60

Question ID : 9864494818
Status : Answered

Q.26 5 &t & forw 9fF T AR == 9% F T & Tx F FIY FTA W 3T &
T ot e e SR S M s 6.25% F WA T

. CAl
y @ TR = o Fea ¥ vy A w1 Status : Answered
Chosen Option : 1

Question ID : 9864494537

T x invested at 9% simple interest per annum for 5 years yields the same interest as that on
T y invested at 6.25% simple interest per annum for 8 vears. Find x: y.

Ans X 1.45 : 50
v210:9
2316 : 15
X45:8

Q.27 yrqa a9 W oA & AR oo Y 6 e v agEe F F e ad
T &
T
TG & Y OF TF Rewe &1 s H AT B

Question ID : 9864495062
Status : Answered
Chosen Option : 4

AT
1. Sirehelt & TG & ATd H AFHET 9T 2
2. SR, A FW IF AT F AT R &

Consider the given statement and decide which of the given assumptions is (are) implicit.

Statement:
Kindly check the availability of one ticket from Tumkur to Mangalore.

Assumptions:
1. The person who is checking knows the mode of transport.
2. The person who is checking knows the passenger who is travelling very well.

Ans - Fae 3FA= 2, BAfea &
1.

Only assumption 2 is implicit.
2 T o A 1 3eEr 2 AT g
| Either assumption 1 or 2 is implicit.
5 1 3R 2 a&t aFe fafe B
| Both assumptions 1 and 2 are implicit.

43=—c|?»r34§m1?r1,ﬁ‘r1%?-r%|

Only assumption 1 is implicit.

v

Q.28
Question ID : 9864494660

Status : Answered

Chosen Option : 1
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Tt T A ¥ FT AT ad T &7
e
A) H, S0, &1 92T 32 & aisaor & wowd 3 seg 4l #rgesras foe f&mar
STE |
B) W20 gEgieraTEs (NaOH) I 75 TTa ZTegietet & et o 3afeufy F FRord|
‘Which of the following statements is/are true or false?
Statements:
A)H,S80, is used in the refining of petroleum to remove sulphur and other compounds.

B) The basic nature of Sodium Hydroxide (NaOH) is due to the presence of Hydrogen ions
in the solution.

Ans 1 FITFUT B TErg|

X
Only statement B is true
X2 At FUAFTATE |
Both statements are false

x5 2t ST EErE |
Both statements are true
. FATFUT A TET

Only statement A is true

v

Q.29 zr gt M 3t N & o & @iEn M & a9t 3= e #r i ava

F 3 T $PTE RRm M N # g F T 31,540 FA fRw # R fr anra ClzsilEn 10 el n b
T Status : Answered

Chosen Option : 1

Two partners M and N buy a car. M pays his share of %th of the total cost of the car. M
pays T 31,540 less than N. What is the cost of the car?

Ans o 1.¥2,20,780
< 232,32,680
#< 3.32,03,175
< 4.¥1,85,780

Q30 37 R F 9TF F{ A A THE ¥ FEOT A £ Question ID : 9864494753

Status : Answered

Chosen Option : 1

N et S
\\kb % o

A B C D

Select the figure that does NOT belong in the following group.

O

\ N *Q* N ®

\ &B DA © 5%

e e ) ’
X2 A
X 3B
X 4D

| ( 1
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Q3 Radts [ g |y
e

W | 70|90 |50] 85

X | 558095 | 60

Y |60 20| 90| 40

Z |90 |80|40] 65

ST Aol # = Rz, W, X, Ytd Z garT P, C, B v M # wre
3, AT T F| v fAuT & IR 3F 100 F

P,C,MT3 B #Tgea ¥T & fagansdt & s=aow gt 3w ST
fam &1

Stu/
P c B M

70 | 90 | 50 | 85
55 | 80 | 95 | 60
60 | 20 | 90 | 40
90 | 80 | 40 | 65

N-<><ig

The given table represents the marks obtained by four students W, X, Y and Z in four
subjects P, C, B and M, with the maximum marks in each subject being 100.
The student who got the highest percentage of marks in P, C, M and B combined is:

Ans x1_x
X2Y
X3 Z
viW

www.facebook.com/superpathshalaﬂ

Question ID : 9864495067
Status : Answered
Chosen Option : 4

Q.32 fr a1v Fafa HEant & St & HUR W EERYT §E 9o

1990 : 1394 :: 1 2017

Select the missing number based on the given related pair of numbers.

1990:1394 2017
Ans X 1. 2163

#< 2. 2361

V'3 2613

X< 4. 2631

Question ID : 9864495011
Status : Answered
Chosen Option : 4

Q.33 37 T=a & AA FAC Tmd peaE foen # 9gEr & fee fa gawer ng
MM, 9T TR T RfRs @ o) ¥ O o & g TOvuA Tn-
WS glerdie T sAar 4w gl

Name the state in which the village Gumthala Garhu near Pehowa in Kurukshetra district
has become the first Wi-Fi hotspot village under bulk plan of Bharat Sanchar Nigam
Limited (BSNL).

1 Ical 9o
‘ Uttar Pradesh
X 2 feAT=or waar

Himachal Pradesh

Question ID : 9864494468
Status : Answered
Chosen Option : 3

Q.34

FB Group: SSC Railway GK Aptitude

Question ID : 9864494407
Status : Not Answered
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Follesh TR & 24 RG@aT 2017 & FrT o & Fea &1 goisT & gu l Chosen Option : -- J
ﬁm@xﬁmﬂﬂmm&mmﬁmﬁmﬂﬁﬁ%lﬂggﬂ&m
T T F e e w0 F O B 2

The Karnataka government launched the Bengaluru city logo — making Bengaluru the first
Indian city to get its own logo — on 24 December 2017 for branding the city as a:

Ans " Red T
tourism destination
x> T TTcHs T
spiritual destination
X3 AT Tl
tribal destination
FoT AR R Tua
art and craft destination

X 4

Q.35 37 f¥wed & =TaT HL A " & 7S gt ofw (ve R @ o g

figeR Y@ w e W Rmar ¥ Question ID : 9864495057

Status : Answered
w9 = Chosen Option :2

Select the option that depicts the following transparent sheet (Problem Figure) when
folded at the dotted line shown.

Problem Figure

il

Ans X1C
v 2B
X3 A
X 4D
Q.36 a7 sRerT A5t ey faerd gom g & soaer F dFas F dzw )
éﬂ?ﬁ'ﬂ»‘éﬂ'ﬂff W'ﬂaﬁ?"fﬁ 2115, 2111 F FOET AT & @ S @ Question ID : 9864494419

drfisr Sher 22 Status : Answered

Young Indian shuttler Siddharth Pratap Singh has won which of the following series by Chosen Option : 1
defeating Denmark’s Mads Christophersen in the finals by 21-15, 21-11 in Uppsala?

Ans x1_
2018 SHATH AT AT FeXARAT

The 2018 Denmark Open Junior International

W2
2018 T AT FfAT FeTreraer

The 2018 Swedish Open Junior International
X3
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2018 HEforwa 39 R ST

The 2018 Australian Open Junior International
o o 2018 T Ao AT s
The 2018 US Open Junior International

www.facebook.com/superpathshalaﬂ

O Afgerst & dlaw Fr eand HEd g 82
What marks the onset of puberty in females?

Ans ﬂEﬁTﬂ'
r 0

Menstruation

X2 i
Menopause

v &) [Eilﬂ o]
Menarche

x5, [RRIRTaER

Adolescence

Question ID : 9864494707
Status : Answered
Chosen Option :1

Q.38 34 faweT & =@ &Y, S Tad =7 # BT i der & g & 6

@

Select the option that represents the number of triangles in the given figure.

@

Ans x1.4
K25
K36
o 47

Question ID : 9864495117
Status : Answered
Chosen Option : 4

Q.39 & 3ANH FEEAT F STEN TIT F AT FT §? T 9E 9 T T
Fedies AgarR aw # e )
‘What is the name of the southernmost tip of the continent of South America? At this place
the Pacific and Atlantic oceans converge.

Ans
xL#rﬁmém

Cape Canaveral
x FT HH T[5 g
Cape of Good Hope
| T TS
Cape Town
4. - ﬁ?‘l’

Cape Horn

v

Question ID : 9864494498
Status : Answered
Chosen Option : 2

FB Group: SSC Railway GK Aptitude

Question ID : 9864492731
Status : Answered
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qﬁqA,Baﬁtcﬁﬂﬁaﬁraﬁrﬂs_ﬁé‘lqﬁaTmmr43ﬁr1ouﬁﬁ Chosen Option :2 J
T O AT & ¥, A e i o SR A 6 met F el e & B I

A= et # v @ we fGEr A, 59 @ i S8 g, o g o

= F e ue wEee

Pipes A, B and C are attached to an empty cistern. While the first two can fill the cistern in

4 and 10 hours, respectively, the third can drain the cistern, when filled, in 6 hours. If all

the three pipes are opened simultaneously when the cistern is half-full, how many hours
will be needed to fill the cistern?

Ans . ap
1. —
X

v
X

Q.41 frmfaf@a guer &, v fea (?) 2@ RET v 3@’ TF 9 ereud

. . Question ID : 9864494246
¥ R v Reedt F it g w T w1
Status : Answered

Chosen Option : 3

AZ, BY, CX, DW,?

In the following series, one term is missing as shown by the question mark (?). Select the
missing term from the given options.

AZ, BY, CX,DW, ?

Ans x 1. EX
< 2 EW
v 3 EV
X 4 EY

i [ lE aﬁ el E I Tl %- ? Question ID : 9864495002
Status : A d
Saturated Hydrocarbons are called: alus : Answere

Chosen Option : 4
Ans x ToehlSe

alkynes

Toohed

alkanes

HAETET

isomers

TUoshliel

alkenes

v

X3

X4

by i - -t . Question ID : 9864494425
HUTRT) 1 AR Fa oegisr FEme AR safter deaffeal # 39 Ageaqor Heln 1) :
T e F AT & F BT 2015 §  genfawfier sopsear & T Status : Answered
9gell TEI-IEEE TRERR ST ¢l Chosen Option : 3

Name the Scientific Adviser to the Defence Minister and DRDO’s DG (Missiles &
Strategic Systems) who has won the first [EI-IEEE Award for Engineering Excellence-
2015 in recognition of his significant national contributions towards missiles and
aerospace technologies.

Ans x 1 HEATr TET
Avinash Chander

Za“f. ST, Tdrer ==

v &3
Dr. G. Satheesh Reddy
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Q.44 AfE 12x°- ax + 7 = ax® + 9x + 3F HAT UF (A WAMNS g o a ol
TUT FHRIcHS FATUT 0T § 7

1f12x%- ax + 7 = ax® + 9x + 3 has only one (repeated) solution, then the positive
integral solution of a is:

Ans x1_4
X 22
X35
V43

Question ID : 9864494566
Status : Not Answered
Chosen Option : --

Q-45mr51mﬁﬁ%ﬁnﬁﬂmﬁﬁaaz@raﬁziéﬁﬁmmﬁl
68 fheliFier ofa o2 i a1fy & 38 g = 9w F= F TR = T
TAY w2

Raj takes 2% hours to complete a certain distance at a speed of 51 kmv/hr, What time would
Kiran take to complete the same distance at a speed of 68km/hr?

Ans 2 'Eié'

1E hours
3

Question ID : 9864494880
Status : Answered
Chosen Option : 4

VO O i 319 T I GFhar 22

Which of the following can do more work?
TR 3T g3 gaisr
A raised hammer
dceh I Ueh doidl g3 ol
v &
A moving bullet

e fereler TR
A speeding stone

| T AT g3 afear

A rotating wheel

Ans

x

<

Question ID : 9864493501
Status : Answered

Chosen Option : 2

Q.47 7577 = wF U7 T S & T SEA T T O Hia & g ven S

The least number that must be subtracted from 7577 to get a perfect square is:

FB Group: SSC Railway GK Aptitude
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Status : Answered
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Ans X1 | l Chosen Option : 3 J
X 27
V38
X 46
Q48 3(1) — 8| T AT FT FEM? Question 1D : 9864494071
What is the value of |3(1) — 62 o g‘:tf;‘: Answered
Ans x 1. 4 .
X220
<3 -3
V43
N T A A FT FUT T T T & 2 Question ID : 9864494677
FUA: Status : Answered
Chosen Option : 4
A) WETH & ot a7 aftaw g

B) T # ofesT J17 3=feeH ¢
Which of the following statements is/are true or false?
Statements:

A) Natrium is the Latin name of Sodium
B) Argentum is the Latin name of Silver

x 1 aAT FUeA A BT &
Both statements A and B are false
v ST FUT A ITBEET T
Both statements A and B are true
3_aa—=|?»ra;5.1?rﬁaqé’r%
Only statement A is true

, Faol FUTB TEr ¥
Only statement B is true

% 3rarer T TH.IE. (Sl) SHIS &7 &2 Question ID : 9864494695

. . Status : Answered
‘What is the SI unit of Charge? Chosen Option :2

x

x

Ans EIH
X
Joules

holFd
v
Coulomb

x 3 drc
Watts

X 4 [
Amperes

Q.51
Question ID : 9864495094

Status : Answered
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Chosen Option : 4 J

wE A iea #

T
MXFT MY & wgr &, « F slaet 99a7 Tgal § FAiTR A AT S Far
FTAT TEAT G
HeHALT
1.HX AY F e o @ §
2RHY TR EFAX spamw

Consider the given statement and decide which of the given assumptions is (are) implicit
in the statement.

Statement:
Mr. X said to Mr. Y, “I want to become a doctor because I want to serve the mankind”.

Assumptions:
1. Mr. X is lying to Mr. Y.
2. Mr. Y knows that Mr. X is lying.

1 31X 2 a1 3gEe fafea &
Both assumptions 1 and 2 are implicit.

o & A 1 vEr 2 fafga B

F !

2

Either assumption 1 or 2 is implicit.
o 3 1, @ &
Only assumption 1 is implicit.

I A 2, TfET &1 .

Only assumption 2 is implicit.

< 3.

K 4

Q.52

e B
has naked seeds.

Question ID : 9864494625
Status : Answered
Chosen Option : 4

RIEGE]
Pinus

Xz.ﬂ%

Wheat

Xs.mq\

Lemon

x o T

Carrot

Q.53

Ans

100 Sfoes T 3@ 140V &1 R Fquged giar § of 50 gt wanfaa
Al aTelr e @y U fifew)

Calculate the current flowing through a resistor of 100) when a potential difference of
140V is applied across it.

Question ID : 9864494996
Status : Answered
Chosen Option : 1

v 14 PR
14 Amperes

X 2 1.4 fFam
1.4 Amperes

X 3 140 vfEoaT
140 Amperes
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O A & ¥ Fadr st ¥ Rereg ST aidr 87
Rickets is caused due to the deficiency of:

Ans fafas b

Question ID : 9864494706
Status : Answered
Chosen Option : 1

Q.55
J93+J32+\f2?4+v‘225 FT AT AT FL

Question ID : 9864494833
Status : Answered
Chosen Option : 4

Evaluate:\/93 + JSZ + 274+ V225

Ans x1_g
<212
X311
v 410

Q.56 fgr 717 3c o9 & ¥ F@ v #, v v gAwn T # afeafea o

&

THE =

A

IR =

Question ID : 9864494773
Status : Answered
Chosen Option :1

=N

A

AN

A B

Which of the given Answer Figures is embedded in the given Problem Figure?

Problem Figure

Answer Figures

C

D

Dl=

Ans (15
X2 A
X3D
X4C
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Q.57 vs =afFa g 'O & 7 o =4ar &, g A T wgEw & fow 9@ #r e
20 foranfer S &, T ae 73 e € i Rig B 9% wgee & faw 10
farsitafiet 1 amr e &, f5T AT E ST ¥ St Rig C Fm e % R Status : Answered
9 ferireeT #r amr wear &, T o A3 o § ok g D 9w e F Chosen Option : 2
fore 5 freiedier & amr war 8, it ad 73 =rar @ Ak Rig B aw e
& T 12 fraser #1 o wan § i 5y ae 53 9 ¢ Ak &g P 9w
g % AT 6 Rreiefiet # A wa 2
fig B AR Big 'O & A & wgw g B B2
A man starts from point ‘O’, travels 20 km towards east to reach point ‘A’ turns right and
travels 10 km to reach point ‘B’, turns right and travels 9 km to reach point *C’, turns right

and travels 5 km to reach point ‘D’, turns left and travels 12 km to reach point ‘E’ and
then turns right and travels 6 km to reach point ‘F’.

‘What is the shortest distance between point ‘E’ and point ‘C*?

Ans x1m
V213
X342
X 4420

Q.58 = v AT R A R A FEar e, 79 AT O Fr TE g A 81 TE 30T

Question ID : 9864494723

Question ID : 9864493359

e & Hi & T aiar

- . A . Status : Answered
As a sailor jumps in the forward direction, the boat moves backwards. This example .
illustrates Newton’s: Chosen Option : 2

Ans ‘,.1_Trﬁ-’ra?rﬁlw1ﬁm

Third Law of Motion

aTiet &7 gET T A

Second Law of Motion

7Tl 3T Tgret 3R g@ foras
First and Second Law of Motion

, 1Ty &1 9gor I

First Law of Motion

X2

x

x

Q.59 ERIfET & AT Wl = TEHR THAER STl Wi TN &0 H90 B ot
FHEE & 5 AR AT aT F Ae?

Salil Parekh, who took charge as the new CEO of Infosys, is moving out from which .
company to join and lead Infosys? Chosen Option :1

Ans . 3_“_%. &
IBM
TFHER
Accenture

qs.ﬂ?qﬁrﬁﬁih

Capgemini

X s ferar
Wipro

Question ID : 9864492394
Status : Answered

<2

Q.60 15 Frer Tget, oA FHIT T Joiell H A Y H AT| I A Wi G
Wiﬁrmeﬂmaﬁrmiﬁ’rgaﬁ?m ATH T THHA IH FAT &7

15 years ago, Shyam was twice as old as Prabhat. Five years from now Prabhat’s age will
be E of Shyam’s age. What is Shyam’s current age?

Ans 80 HTel
1.
80 years

Question ID : 9864494902
Status : Answered
Chosen Option : 4
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Q.61 AT seoET AR & ¥ Fw s == (PE) # afds w1

Ans

(KE) ¥ ufafda faar o &
In which of the following mentioned activities is the potential energy (P.E.) converted into
kinetic energy (K.E.)?
| T TRT F G HA
The switching off of a torch
, T qere &7 faTme

" The explosion of a fire cracker

, TR T I HAT
The switching on of a torch

T USoIH T Solel
3 LY

x

x

W 4
The swinging of a pendulum

Question ID : 9864494671
Status : Answered
Chosen Option : 2

Q.62 = ¥ faFedl F Feat F el @rg w=yor 3T 399 =g F av o g e

g # FR T A e aeh R s e v g g
T & T — G F A€ F ITH - T H FW F A

T et # e F

Given in the options are sets of particular characteristics of elements and how they vary
across the period and down the group in the following format:

Characteristic of an element — Across the period — Down the group
Select the correct set from the given options.

p S0
faege wATcH®d UTfeas @etT — dedr #/3fE A § - Tear R @ ¥
Electropositive charactermetallic character — Increase — Increase

<2
Taege GmTershal/ eiceh ST8TuT e §/ETH T § — TedT §/F 8T §
Electropositive character/metallic character — Decrease — Decrease

W 3
Rege, aeeAwal ifcas WeTT — TeaT §/EW gieT § —Sear gighy g ¥

Electropositive character/metallic character — Decrease — Increase

< 4
Toege emcrsay aifcaes w8T0T — S5t §/3fE FT § — wear /5 g §

Electropositive character/metallic character — Increase — Decrease

Question ID : 9864494924
Status : Answered
Chosen Option : 4

Q.63 3w fawed &1 o Y = WEge O & =t Fr Fww & st &= §

Select the option that represents the number of squares in the given figure.

S’
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Status : Answered
Chosen Option :1
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Ans x 1.7
X 24
K35
v
Q64 (8- (28-53)} + (- 4x5-(-9)} =7 Question D : 9864494889
. _ Status : Answered
{8_ (28_ 53)} N {_ 4x5- (—9}}—? ChosenOptiZn:4 -
Ans x 1. 11
X2 -1
K33
V-3
Q.65
o P o] B M Question ID : 9864494786
fw Status : Answered
w 70 90 50 85 o
X 55 0 o5 80 Chosen Option : 4
Y 60 20 90 40
z 90 80 40 65

S & 7 e 4 ot WX, Y, Z 2@ 4 et PGB, M # frm st
& gl ¥ 3T gede R ¥ e 3 100 € |
afg 3= TR ol FF PCMB # 353% Fo7 Sl 37t & e Fuie feam e

ar F IET T e |
Stw/
cub P le B M
W 70 90 50 85
X 55 30 03 60
Y 60 20 20 40
z 90 80 40 63

The above table represents the marks obtained by 4 students WX, Y, Z in 4 subjects
P.C.B, M with maximum marks in each subject being 100.

If these four students are given ranks according to their total percentage of marks in
PCMB then gets the 3% rank.

Ans x1w
X2 X
X3y
vz
Q.66 A dHdT Aer el & ¥ Fie @ Gomdr geear g 45.3 3T i
3 320 o TR TeT B TR e a oS o o Read sewrd Question ID : 9864494390

(ODI) forre & wger Tadre 1 Trgerdr & 300 & F=0? Status : Answered

‘Which of the following Indian women cricket openers scored 320 in 45.3 overs to become Chosen Option : 3
the world’s first pair to achieve a 300-run opening wicket partnership in one-day
internationals (ODIs)?

Ans x ;. ST ggerett R fHarelr o=t
Diana Edulji and Mitali Raj
| Aff o 3R g7 15
| Deepti Sharma and Poonam Raut
| TF T AR e o=
Poonam Raut and Mitali Raj

4 gt o=t 3k AT o=
Mitali Raj and Deepti Sharma

v

x

Question ID : 9864495065
Status : Answered
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Chosen Option : 3

J

GPW, GPUW, GIPUW, GIPSUW,

Select the term missing from the following series.
GPW, GPUW, GIPUW, GIPSUW,

Ans - X 1. GIPKSUW
< 2. GIKPSW
v 3 GIKPSUW
& 4 GIJPSUW

Q.68 7fE3cos?xy - 2sin?x =- 0.75¢HRT0° < x =90°%, drx & AT FAT g=M?

If 3cos?x - 2sin’x =- 0.75and 0° < x < 90° thenx =7

Ans x 1. 459

Question ID : 9864494567
Status : Answered
Chosen Option : 2

v 2 600
< 3.30°
< 4.90°

Q.69 smyferss smact arferer # fhaw =g 3t smaa Alsg &

How many groups and periods are present in the Modern Periodic Table?

Question ID : 9864494683
Status : Answered
Chosen Option :1

Ans v 18 THE, 7 A=
1.

18 groups, 7 periods

le?mg,saaﬁ-c‘r

7 groups, 8 periods

xslsmg,?aaﬁ?‘r

8 groups, 7 periods

x4_9m§,93ﬂaz-‘r

9 groups, 9 periods

Q.70 165wt & FHE gEwr wvF AT 3% 20 ) vE o9 F wEE H o R
oo afomaTssT Ow omEt & sta 21 8 T AR v s o sEd
anfder & oran, o aiomeasT wag % ot & sea 3R e B s 205
& T TR O T A aw o #Y g § i @ 9 o F e

Question ID : 9864494908
Status : Not Answered
Chosen Option : --

STeAT AT 9

The average marks obtained by a group of 16 students was 20. One student left the group
as a result of which the average of the remaining students rose to 21. But another student
joined, as a result of which the average marks of the group dropped a bit and became 20.5.
What was the average marks obtained by the student who left and the one who joined?

Ans (1_ s}
<210
X 38
X411

QM (5x —3)(x+4)—(2x+5)Bx—4)= 7
(bx—3)(x+4)—(2x+5)3x—4) =7

Question ID : 9864494826
Status : Answered
Chosen Option : 4

Ans X1 x% +10x+8
X2 _x24+10x—8
A3 x24+10x—8
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A2 gper H T T AE T T T e a0

Ans

The speed of the light is maximum in:

v e

Vacuum

Question ID : 9864494613
Status : Answered
Chosen Option : 1

Q.73 fa| &ar & 8-10 fedey 2017 d« faAees #I Sradl avene & FANE & HET

Ans

F w7 & 9l 9 ste Ao o Reaes Adcwe wmfe T an

‘Which country hosted the ‘Bodhi Parva: BIMSTEC Festival of Buddhist Heritage’ from

8-10 December 2017 as part of BIMSTEC’s 20t anniversary celebrations?

9T

p P
Nepal

Question ID : 9864494421
Status : Answered
Chosen Option : 1

Q.74 f&U U Fadeq F T AT HT T AT 7 Y & & 78 Aegant § F #ia

Ans

W Tvam & A @)
CEGE:H

S AR e agd afedr @ ¥ A S5 W A A Iod § & 5w s
5w o=t o fer &
A gaTs:

1. fE dremd T g dE gt & e F qod 6 g

2. 3T g ST Tgd & U & dienes 8 e 2

Consider the given statement to be true and decide which of the following assumptions
is/are implicit in the statement.

Statement:
‘When your dress is excellent, many people ask which tailor has stitched that dress.

Assumptions:
1. Ifthe dress is bad, people don’t ask about the tailor.

2. People want to know how to stitch the same dress.

1_a\:ﬁmm13i’l¢2ﬁ%;r%l

Both assumptions 1 and 2 are implicit.

Z_WWE%%

Only assumption 2 is implicit.

3.ma’r1m2ﬁ'|ﬁr-r%|

Either assumption 1 or 2 is implicit.

x

x

x
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Status : Answered
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Only assumption 1 is implicit.

Q.75 rAfarea T Terd
AustT @ & Question ID : 9864494659

Exird Status : Not Answered
AW, s gar AT it H,0 siivso, T Chosen Option : --

B)F°AT $r39ieufa & g gehe FTHTHET Fe,0,, 50, ¥ 50,

‘Which of the following statements is/are true or false?

Statements:
A) H, S burns in air to give H,O and SO,

B) The decomposition of Ferrous Sulphate into Fe,0;, SO, and SO; occurs in the
presence of heat.

x1_mA3ﬂTBﬂﬂH§ |
Statements A and B are false

FUT A T Fa% B T8l

| Statement A is true, while B is false
FUT B TETE, a1 A eI B

| Statement B is true, while A is false
" FUT A HTB A TEE |

Statements A and B both are true

Ans
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